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HOME SCIENCE
Paper - If

1. Sustainable Development Goals are 1. yRAUA daduNes ol ad

targeted to be achieved in the year
(A) 2020 (B) 2030
(C) 2040 (D) 2050

. Which one of the following is dominant
autosomal disease ?

(A) Cystic fibrosis

(B) Sickie cell anemia
{C) Huntington disease
(D) Tay-Sachs disease

. L-3, 4-dihydroxyphenylalanine (DOPA)
is formed in

(A) Maillard reaction
(B) Enzymatic browning

(C) Parboiting

(D) Germination

. Solid food added to the infants diet is
called

(A) Rutabaga
(C) Parsnip

(B) Kohlrabi
(D) Beikost

. Selwinhoff’s Test will distinguish which of
the following amongst carbohydrates ?

(A} Fructose
(B) Glucose
(C) Ribose

il slud salell aeals 8.
(A) 2020 (B) 2030
(C) 2040 (D) 2050

. oA eaiact Aot Hiell s SlAete

A2lRAHA A2 B 2
(A) YHéls seAn

(B) Alsc At Aol {lau
(C) &atlolest Slilu

(D) 2-Asu slllu

. ol ealdd s¢8 wlBal Wi L-3.

4-dihydroxyphenylalanine (DOPA) e & 2
(A) AsaLs dlalsalst

(B) doostSN2ls l1GelloL

(C) wRellscllat

(D) os1{lal2tet

. @1gotl uslR ML GHRALML Btclcll A5

vilaisal _ sdaul wd 8.
(A) 3clloow (B) Rectzioll

(C) wlellu (D) AYsle

. ACAAs 222 sl stellslsie ol

AL 52 B 2
(A) g5l
(B) 25\
(C) ATl

(D) Maltose (D) el
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6. Which of the following components of | 6. {12 ealda fledust uzsl el 59

fitness is defined as the body’s ability to u2s dioil aua Yol suda 2siell
sustain prolonged exercise ? uctlefl AFR ofl st ealld B,
(A) Body composition (A) Sl srdloflatet

(B) Flexibility (B) sal3tellclldl

(C) Agility (C) Aclél

(D) Cardiorespiratory endurance (D) stélalRadlredl Bosen

7. Children 6-59 months suffering from SAM 7. sAM &l I3 6-59 HBotlott wins of

should fulfill which of the following three Ao W2 oA ellden HwéSuisdl
criteria ? Sl AR HIUES YBI sRdl WS,

1. Weight - for - height < — 3SD 1. Qs W2 a%el <—3SD

2. Height - for - age < — 3SD 2. Gu2 W2 e <-3SD

3. MUAC < 115 mm 3. MUAC < 115 mm

4. MUAC < 125 mm 4. MUAC < 125 mm

5. Bilateral cedema 5. 0{{&5‘@82& agh_u

6. No oedema 6. 816 Al o8l
(A) 1, 2, 3 (B) 3, 4, 5 (A) 1, 2, 3 (B) 3, 4, 5
©) 2 4 6 D) 1,3 5 ) 2 4 6 D) 1,3, 5

8. As per FSSAI, the processed food 8. FSSAI Yo, ® YA §5 Gule sl
manufacturers who claim that their aAdell Gawleell i 'SAEA g
products are ‘cholesterol free’, should 8 dcl eldl 53 B, dl Al wiel
have cholesterol level of Geutealui slAleo] 2ct?
8 NS,

(A) More than 5 mg/100 g of solid

(A) 5 mg/100g 2l ayj Aclls

(B) 5 mg/100g &l ay Aclls 8l
(C) More than 10 mg/100 g of solid (C) 10 mg/100g &l atj Aells

(D) Not more than 10 mg/100 g of solid (D) 10 mg/100g &l ay Acls «1él

(B) Not more than 5 mg/100 g of solid




9. Net Protein Utilization (NPU) is defined
as
(A) N retained /N intake x 100
(B) N absorbed /N retained x 100
(C) N intake /N retained x 100
(D) N retained /N absorbed x 100

The test used for the assessment of
thiamine status is

10.

(A) Erythrocyte Reductase Test

(B) Formiminoglutamic Acid (FIGLU)
Test

(C) Relative Dose Response Test

(D) Erythrocyte Transketolase Activity
Test

11. Which of these is an example of a
HACCP prerequisite programme ?
(A) Washing vegetables
(B) Approving suppliers
(C) Buying organic food
(D) Only using local farmers

12. Which of the foliowing is the best source

of omega-3 fatty acids ?
(A) Com oil

(B) Wheat products

{C) Pork

(D) Sardines

13. The term used for fecal incontinence is

(A) Fable (B) Cirrhosis

9.

10.

11.

12.

13.

Az Wl YReAsIaet (NPU) A
a3 ceval@o scudl wad B,

(A) N (32845 / N 825 x 100

B) N Auiles / N 2805 x 100

(C) N 8025 / N $1280S x 100

@) N A2805 7 N BAaidlos x 100

o1 eafide 2ee Higl aralstodl
RRR] yeuisel sel W2 sall
32 cdlyaiHl wa 8 ?

(A) ARPuSe s e

B) 2 :l-ocei@s AR (FIGLY)

2
(€) AAdla Sl Al 22

(D) ARNUS2 geu3AAS Asdl{ldl
FXS

il 53 HACCP YAw3dl sidsiq
GELERW & 7
(A) wseu dlal

B) wenad o 10yl

(C) AIAs wseuy videq
(D) WA wEls NgAloll GullaL sel

ol Aetniell g2 WRoU-3%E] ARSAU
A6 Bl B ?

(A) UslE of dad
(B) uBell Geuleoll
(C) §552 of HIU

(D) sl

Asct Bodledlotadd sl
A B,

(A) Fud (B) 8l

(C) Cholanginia (D) Encopresis (C) HAalla (D) AN




14.

185.

16.

17.

18.

The range of basal pulse rate per minute
of neonate is

(A) 150 — 170
(C) 100 —120

(B) 90 — 100
(D) 130 - 150

The insulin to carbohydrate ratio’s rule of
thumb is that each unit of regular insulin

covers about g of carbohydrate.
(A) 209 (B) 159
(C) 10g (D) 30g

The World Health Organization (WHO)
recommendation for potassium intake
for adults suggests an intake of atleast
—__ mmol/day.

(A) 90
(€) 110

(B) 80
(D) 85

Hepatic encephalopathy is a clinical
complication of chronic liver disease,

in which the blood level rises.
(A) Glucose (B) Urea
(C) Ammonia (D) Creatinine

Identify the essential amino acid.
(A) Proline and Glycine
(B) Serine and Glycine

(C) Alanine and Serine

(D) Tryptophan and Valine

14.

15.

16.

17.

18.

ddnd Qg o YQRR2 Axe ue
EE] 8.

(A) 150 — 170 (B) 90 - 100
(C) 100-120 (D) 130 - 150
Boe)ldet ofl siellalesye YR1NA Ran

W B 3 20YcR 8aYAeto] 635 Asy
A sollste el wadl

GOLeLI

a9y,

(A) 20 (B) 15
(C) 10 aun (D) 30 Jx

acd e AWAsRatel (WHO)

Yot cldell Al 12 N2RAUA Actotol]
AAHR Aol AYl _ mmolrday
yud 82

(A) 90 (B) 80
(€) 110 (D) 85
3URs AAsA U AR5 cllar Aot A

GaRse Sliucldoe B ®ui Qi

— 9 xRk 48 B.
(A) 81 (B) YRau
(C) AR (D) BaulReuset

lctus Al ARSs 2o,
(A) WlesSot U detalot
(B) Adlot ua cuailel

(C) AT WA AFot

(D) &3t ux AAA
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19.

20.

21.

22.

23.

The conceptual framework in which a
research is conducted is called

(A) Synopsis of research
(B) Research design
(C) Research hypothesis

(D) Research paradigm

A pilot study is also called

(A) Descriptive study

(B) Feasibility study

(C) Correlation study

(D) Explanatory study

Thermal protective textiles are treated
with

(A) Water resistant finish

(B) Anti microbial finish

(C) Ultra violet ray finish

(D) Soit release finish

Which of the following is not a Computer

Aided Pattern Drafting System used in
garment industry ?

(A) Adobe reader
(C) Lectra

(B) Tuka Cad

(D) Optitex

in marketing skimming, penetration and
bargaining are the terms related to

(A) Price decisions

(B) Product decisions

(C) Promotion decisions

(D) Place decisions

19.

20.

21.

22.

23.

2 SeAURJUE Fuas Ful Ualuel o
AUt scUHl WA B dal
sdclMi wd 8.

(A) R Allust
(B) delltiet Bnefel

(€) ¥eluat sl
(D) delltiat AASIH

yadlz Aed of oflef otnt

(A) BE0Ra veax
(B) Bllaclldl meant

(©) SAANA oA
(D) AsrAaed| wean

Gldi@uas WS 2o —
ol wBa sc wad 8.

(A) well wdAus (water resistant)
ol

(B) A uesenad $ollal
(C) weal ailde (3 fela

(D) AWsA uslatet follal

Aciell 56 Mgz sl el
sis@al Rren oefl Boll Gualdl susL
Gellotdl & B,

(A) Asla ds?
(C) Asal

(B) 25l 35

(D) (28
WERL 2Bl viddus (penetration)
U elllclel A sl 2cel B
(A) B ofldll

(B) ad (product) «{leiall

(C) n&ud ol

(D) et oftgiall
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24,

25.

26.

27.

Name the style line derived from Empress
Josephine de Beauharnais.

(A} Farthingale line
(B) Empire line

(C) Royai silhouette
(D) Victorian style

A sewing thread needs more of
(A) Resiliency, luster and strength

(B) Strength, abrasion, resistance
and stability

(C) Abrasion, strength and luster

(D) Brittleness, absorption and stability

Stannic chloride is used in man made
fibres for the following purpose

(A) Imparting luster
(B) Mercerising
(C}) Bleaching

(D) Reducing luster

A portal normally run by a consortium of
buyers to establish an efficient purchasing
environment for garments is a

(A) Vertical e-market place
(B) Buyer oriented market place

(C) Horizontal e-market place

(D) Selier oriented market

24.

25.

26.

27.

USRARN AAsteSe S| 0ysotleSy &l
yellcld RISA ctol of oty

(A) sEBle cutsat
(B) AMrwa el
(C) Auc Achde

(D) @saRad et

eyl €10 W2 vy JaRLs D,

(A) RALRaUsAL uus W AGY

(B) aufse, i, uldst? wal @z

(C) gy, AB v uYs

(D) wRsUy (brittieness), AWUGL AU
A

®es sclASs ol Guelal Metau@d

clden W2 oA ealda 3q w2 wa d.

(A) UAHS Bl M2

(B) HRISHMoL

(C) Azl

(D) uMs uatsal

a@ll M2 stdan wdldle] aldiaa
U se w2 e A wleet
Aell UL gLl AU Bleld Qo D,

(A) alse 8-z wan

(B) wdleattz (buyer) call (oriented) 22
(C) horizontal &-ui%e 0

(D) {A3cl eall Wz
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28.

29,

30.

31.

32.

In assembly line production one worker

(A) Stitches one complete garment and
its parts

(B) Stitches a specific part for a number
of garment units

(C) Stitches and packs the complete
garment

(D) Stitches, irons and packages a
complete garment

Which is not the knitting structure ?

(A) Milanese (B) Tricot

{C) Honeycomb (D) Twill

The moisture (%) of nylon fibre is in the
range of

(A) 2.0 - 3.0
(C) 8.0-9.0

(B) 3.5-4.5
(D) 12.5-13.5

Haute Couture is a French term used
to describe

(A) Exclusive, one of its kind fashion
(B) Very expensive fashion

(C) Fabric fashion

(D) Pret fashion

The following textile property is desirable
in swim wear.

(A) Comfort and durability
(B) Maximum stretch and durability
(C) Absorption and stretch

(D) Maximum stretch and reduced drag

28.

29.

30.

31.

32.

Adrocll et Geauteotnl s s :
(A) Qs By ot wa Aell et lA B

(B) uvloitl AsHl HIS ASFU GO
dla d

(©) dydl amt ol Reus deu Us 52 B

() ag, S5l UA ava AARAA
glol 52 B

5] U ¢ Ml (structure)

(A) Aol (B) afsle
(C) &ollslaot (D) elat

all2LCt 22U ML X (%) of WHIQL AL
Jorul B,

(A) 2.0-3.0
(C) 8.0-9.0

(B) 3.5-45
(D) 12.5-13.5

A2 522 A5 Fo Ack B, Bell GUALL
AAoigll A A of adlet 52 D.

(A) RQBe, As vtellull Fatat

B) vot Wéo(l et

(C) stus 32uel

(D) Y2 2ot

azal (swim)ott agll W2 oflacllvlla
siuse(l Mudl gwolla B.

(A) Yuue vl 2sGedld

(B) H&tim W (stretch) ual 256Uy
(C) WueL val vt

(D) M&cctH NAULH el didet Wl

#
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33.

34.

35.

36.

37.

In a micro-fibre bianket, which of the

following has maximum heat retention ?

(A) Low twist, staple spun yarn in pile
weave

(B) High twist, staple spun yarn in piain
weave

(C) Textured monofilament yarn in plain
weave

(D) Textured multifilament yarn in plain
weave

Taneira is a ethnic brand name of

(B) Global Desi
(D) Forever

(A) Tata group
(C) Reliance

Which long length of traditional textiles
can pass through a finger ring ?

(A) Pitambari
(C) Dacca Muslin

(B) Jamdani
(D) Chanderi

Ed-a-Mamma clothing brand caters to
(A) Mens wear

(B) Geriatric wear

(C) Kids wear

(D) Specially chailenged group

Select the odd one out with respect to
traditional styles of dyeing and printing.

(A) Direct
(B) Discharge

{C) Superimposed
(D) Resist

33.

- 34.

35.

36.

37.

WSS sl @Sl ol Aeunigll 56
HeeaH 2] el AR & 2

(A) w8l an, wed qouemi Wua
Wl dldu

(B) dY o, \Qel qoU Wi VU WYl
dldel

(C) xao? aile 1l 2868 WAl flaoe
21(

(D) xa:{l ague ui 2auRs vl flauNoe
2

ot W della wis o o{laatcllulla
Higll 8ol ®.
(A) alel Yy
(C) Aetasn

(B) acllotet 2all
(D) 812 Az

58 UURLLA 2&tSceell aioll oues
g sius Ws dldl (finer ring) wisll
UAR 48 A &,
(A) Ytddl

(C) aLsl Hucllat

(B) suelel
(D) Aedl
B5-3l-ueL awll ol glles Wi Y3
U3 8. (caters)

(A) Yzl w2 cl

(B) d& =2 axl

(C) sl W2 axl

(D) Reaiot w2 axl

WUAAA S wal Redlolel]l
RIFcal deelui dsl? ol uiie s3l.
(A) sta3se

(B) Staaue¥

(C) YU us

(D) ke
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38. Cotton, Hemp, Manila and Coir belongs to
(A) Seed, Bast, Leaf and Fruit
(B) Seed, Leaf, Bast and Fruit
(C) Leaf, Fruit, Bast and Seed
(D) Seed, Bast, Fruit and Leaf

39. Which is an example of a two tailed
research hypothesis ?

(A) There is a difference in the textile
strength of fabric A v/s fabric B

(B) There is a negative relationship
between elongation and dyeability

{C) Fabric A has higher tensile strength
than fabric B

(D) Thereis no relationship between self
esteem and tashionable clothing

40. Which of the following is a non-probability
sampling technique ?

(A) Cluster sampling
(B) Quota sampling
(C) Stratified sampling
(D) Random sampling

41. Thetechnique of recordingthe movements
of both the hands while measuring the
amount of work done is

(A) Pathway chart
(B) Operation chart
(C) Process chart
(D) Walkway chart

38. ycfl, 1y, sl wA KR (st
Wizl Slolt Wil

@A) s, 4s, ulest ve s
B) s, WiESL, 4S ol 50
(C) Wiest, 5@, 45 A ollw
(D) s, &S, §O Bal UIESL

39. 53 g-2@S Adlltet YA URQU (hypothesis)
of GELGW B ?

(A) 5LUS A vis 5tus B ol 2aa8a
UG AL M dsled B

(B) SANAl uA 2WIAMAL A
asl2AMS Aol B

(C) 51US A HL 51US B Scll A cligl
(tensile) ABA B

(D) 2t [@liLet (self-esteem) wlal sﬂlaﬁl&l
a@l a2 518 Aoiy «ell

40. o{lAuiell 58 ollsti-Ueudoll
(non-probability) ool oll
Ald (technigue) B

(A) s@e? WulEd
B) st Al
(C) Blass Arulcot
(D) dwsH Avulel

a1, da sl sctUctstsll side(l 1Ll
wudl dsells o g 88 B 2

(A) wad A
(B) WuRatel we
(C) QAN W
(D) dlsd ule

.
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42.

43.

45.

The portion of output that re-enter a
system as input to affect succeeding
output is called

(A) Criticism (B) Revival

(C) Feedback (D) Appraisal

The Right to be provided about the facts
needed to make a choice

(A) Right to safety

(B) Right to choose

(C) Right to be heard

(D) Right to be informed

. Mismatch between the dimensions

of interior space and the user can be
avoided by designing as per User's

(A) Volume
(B) Magnitude
(C) Anthropometry

(D) Cubic measure

The device that is used to measure
the range of motion of various joints

around the body
(A) Gonio meter (B} Flexi meter

(C) Dynamo meter (D) Wrist guard

- The period in which furniture is well

balanced, decorated with elaborate
carving and intricate mirror arrangement

(A) Renaissance period
(B) Baroque period

(C) Rococo period
(D) Neo-classic period

42.

43.

46.

¥ wBayeadl ewdt 3 ¥ Rreuni
Setye ddld Yotryau 52 ® Q
Uil wiBeyea wA 52 B da
Y sdalui wd B 7

(A) BAnn
(C) dlsas

ueoll sral 2 «3dl sdlsdl QA
YElel HRdciell AR S12

(A) ¥l uls2

(B) UE sctell wst2

(C) dienaall ufs2

(D) 8L sclladl w512

(B) Jasact
(D) vUReA

.ol uldlRs woAl WA AUAAsdlelL

Rl a2 Ao widl of Ala
URAASAL ol UsjUR [3a3t8et

53 atol asta B,
(A) dleyn

(B) ldd

(C) AN

(D) tot MU

- GusRel & Bell Guallol audleel

WAL QLAY qiurded QA
el Hiwel w2 a B

(A) Jalo(la 1l (B) 3@sal ez
(€) st le: (D) 8ISt &5

3l yuaoua uit sHuz wil A
U@ 8l B, Racd sl A wdle
UlAtell oNsagllell souraml 2D
(A) Yeizopclal oll AHANN

(B) all2ls AMAA

(C) RAslsl unzduAl

(D) Ra-scs wnaoud




47.

49,

50.

51.

The activity that aids in putting and
keeping the plan in action and keep the
organization moving
(A) Guiding

(C) Controlling

(B) Leading
(D) Governing

The process of burning municipal waste
at a higher temperature is called

{(A) Blazing {B) Smouldering

(C) Flaring (D) Incineration

Synthetic chemical which depleted ozone
layer

(A) Chlorofluorocarbons
(B} Hydrocarbons

(C) Carbon chemicals
(D) Oxides

The type of resolving conflictin which two
sides follow “live and let live” policy

(A) Agreement

(B) Compromise

(C) Settlement

(D) Understanding

The process of bringing people and
organization together so that the goals
of each are achieved

(A) Organizational Resource
Management

(B) Community Resource Management
(C) Human Resource Management

(D) Social Resource Management
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The technology of enclosing or wrapping
the products for distribution, storage, sale
and use

(A) Enfoiding (B) Bundie up

(C) Packaging (D) Bandaging

Deriving maximum benefits from the
minimum dimensions of a room is called
(A) Vastness

(B) Spaciousness

(C) Bulkiness

(D) Roominess

The maximum horizontal distance

between the finger tips when both arms
are stretched out sideways is called

(A) Stretch (B) Span
(C) Extent (D) Reach

Tax applicable on the profits earned by
companies from their business

(A) Income tax

(B) Goods tax

(C) Corporate tax
(D) Value added tax

. Producing an impression of unity

through the selection and arrangement

of consistent objects and ideas is called
(A) Sympony (B) Harmony

(C) Symmeiry (D) Coherence
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57.
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60.

An applied science of equipment design
to maximize productivity by reducing
operator fatigue and discomfort

(A) Body mechanics

(B) Anthropometry

(C) Physiology

(D) Ergonomics

The process of determining the purpose,

functional requirements and basic layout
of specific areas in a building is called

(A) Layout planning
(B) Space planning
(C) Basic planning
(D) Comfort planning

The degree of consistency with which the
variables are measured by an instrument
is called

(A) Solidity
(C) Reliability

(B) Credibility

(D) Responsibility
To study the impact of social media
on engineering graduates, when the
researcher selects a typical group of
engineers who might represent the larger

population and collects the data, the
sampling technique used is

(A) Extensive sampling
(B) Judgemental sampling
(C) Snow-ball sampling

(D) Purposive sampling
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61.

62.

64.

Three progressive stages of development
are

(A) Germinal, embryonic and fetal
(B) Germinal, fetal and embryonic
(C) Fetal, embryonic and germinal
(D) Embryonic, germinal and fetal

The head is one fourth of the total body
length at birth while it is in
adulis.

(A) One eighth to one ninth
(B) One ninth

(C) One sixth

(D) One seventh to one eighth

. Which of the following developmental

tasks would be accomplished first ?
(A) Moving on hands and knees
(B) Sitting up unsupported

(C) Picking up piece of cereal with fore
finger

(D) Pulling up unaided

The focus of pre-school education is on
(A) Reading and writing skilis

(B) All round, hotistic development

(C) Motor development

(D) Singing and dancing skifls
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69.

Who made the statement “Adolescence
is a period of storm and stress” ?

(A) Stanley Hall

(B) Elizabeth Hurlock
(C) Piaget

(D) Freud

The following are physical characteristic
of puberty except

(A) Menarche

(B) Supermenarche

(C) Growth spurt in height
(D) Asynchrony

Family consisting of spouses, their off
spring and relatives through marriage is

(A) Consanguinecus family
(B) Conjugal family

(C) Matrilineal family

(D) Polygamous family

Arpita and her husband have invited a
friend to resolve a conflict between the
two of them (husband and wife). This
process is known as

(A) Triangulation (B) Involvement

(C) Intermission (D) Negotiation

Which of the following is the guiding
force influencing behaviour and decision
making according to what is considered
right or wrong ?
(A) d

(C) Super ego

(B) Ego
(D) Brain
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70.

7.

72.

73.

74.

According to Piaget ego centrism in

children means

(A) Perceiving the World in a round about
manner

(B} Being concerned about getting what
they want

(C) Perceiving the World in their own
perspective
(D) Being concerned about their egos

parenting is characterized
by high expectation, compliance to
parental rules and directions, as well as
low parental warmth.

(A) Authoritative
(B) Authoritarian
(C) Permissive
(D) Neglectful

Growing in a hostile environment in

a dysfunctional famity, Meena leamt to
use one member against another to
her advantage. She is the in
the family.

(A) Hero

(B) Clown

(C) Caretaker

(D} Manipulator

A lady is becoming insecure and shows

a decline in mental functioning. She is
getting

(A) Senile (B) Elderly
(C) Arthritic (D) Sickly
Changes resulting from the accumnulated

effects of disease, bodily abuse or
environmental hazards

(A) Primary aging
(B) Elementary aging
(C) Secondary aging

(D) Middle age
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75.

76.

Two major attributes achieved by the age
of 50 — 55 years are

(A) Adjusting to the loss of a spouse and
preparing for retirement

(B) Selecting an occupation and
preparing for marriage

(C) Meeting social and civic obligations

(D) Understanding adult responsibilities
and enjoying past achievements
rather than undertaking new
activities

The Domestic Violence Act came into
force in

(A) 1972
(C) 2000

(B) 1995
(D) 2005

. The following test is used for personality

testing
(A) RIASEC Model
(B) Item Difficuity Index

-(C) MBTI

78.

(D) OCPD Test

A variable that is held constant or limited
in a research study is known as

(A) Independent variable
(B) Dependent variable
(C) Controlled variable

{D) Experimental variable

75.

76.

78.

50 — 55 a «{l a2 Uit 2Ac & Yu

8l sa & ?

(A) aol wellell vilza wuYd s2dl
wA RgRiell daudl s2cl

(B) A ude sdl axt w o
daudl sedl

(C) WHIY5 ¥ odldls wE1AL
ydl sl

(D) Yuct clefl aueetlallal uussdl
A el gl sl HRAdA dEQ
ostine(l RUGBA Bueie Hieidl

udg Bul uRRan Ananl sl

(A) 1972
(C) 2000

(B) 1995
(D) 2005

it uBam w2 Al sA0EA0

Guallol A B,

(A} RIASEC {3&

(B) sudfeu yadcl ¥yl (index)
(C) MBTI

(D) OCPD udlal

Aol AULAAAUL RAR wal

HaillRd U (variable) &\
A3 v 2d 8.

(A) Fesllsee afAwe
(B) dlUse2 AdlAnc

(C) s3les AdlAue

(D) Asuudliea AdAua

RN



b

79.

81.

82.

The following inferential statistical test
is used to determine whether there is a
statistically significant difference between
the means of two variables

(A) t-test
(B) Chi-square test
(C) Measures of central tendency

(D) Measures of variation

. The correct ascending order of human

needs according to Moslow’s theory is

(A) Physiological, safety, self-esteem
and self-actualization

(B) Safety, physiological, self-actualization
and seif-esteem

(C) Self actualization, self-esteem,
physiological and safety

(D) Physiological, self-esteem, safety
and seif-actualization

The listener just absorbs the information
given like hearing a tape recorder is an
example for

(A) Active listening
(B) Passive listening
(C) Projective listening

(D) Deliberate listening

The study of body language is known as

(A) Gesture (B) Posture

(C) Dynamics (D) Kinesics
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87.

Who presented the basic model of
communication with three elements 7

(A) Aristotle (B) David Berlo
(C) Schramm (D) Leagans

The degree to which the results of an
innovation are visible is termed as

{A) Complexity (B) Predictabitity
(C) Observabilty (D) Compatability

. The news that appears two or three

days before the event is
(A) Soft news

(B) Curtain raiser

(C) Foliow up news

(D) Hard news

. Expression of ends towards which our

efforts are directed is referred as

(A) Goals

(C) Directions

(B) Objectives
(D) Aims

The primary focus of FAO's work in
communication for development lies in
(A) Rural areas

(B) Urban areas

(C) Metropolitan level

(D) Municipal level

. Bihu is the folk dance form of which
State ?
(A) Sikkim (B) Mizoram
(C) Assam (D) Jammu
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Which social media ptatform is best for
visual content marketing ?

(A) Facebook
(C) Twitter

(B) Instagram
(D) Linkedin

A short series of 4 to 5 lectures on a
specific theme is followed in

(A) Brain storming

(B} Symposium

(C) Debate

(D) Workshop

In USA the extension service is called
(A) Coordinating extension service
(B) Cooperative extension service
(C) National extension service

(D) United States extension service

The gap between what is the existing
situation and what ought to be the
desirable situation is expressed as

{A) Need
{C) Plan

(B) Purpose

(D) Priority

The process of bringing desirable change
in human behaviour is

(B) Education
(D) Training

(A) Development
(C) Instruction

An innovator who links up an innovation
with the market to earn profit is referred

as
(A) Entrepreneur  (B) Administrator

(C) Manager (D) Leader
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95.

97.
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100.

Which of the following Committee
recommended Panchayat Raj System
in India ?

(A) Balwantrai Mehta Committee

(B) S.L. Mehta Committee

(C) Manmohan Singh Committee

(D) Kothari Committee

. The PRA method of knowing history of

major recalled events in a Community
(B) Timeline
(D) Mapping

(A) Venn diagram
(C) Matrix ranking

Aduit learning is mostly
(A) Problem centered
(B) Subject centered
{(C) Instructor centered
(D) Institution centered

Providing 100 days wage employment
guarantee to rural poor is the aim of

(A) JRY (B) MGNREGA
(C) SGSY (D) ICDS

. Chi-square test is an example of

(A) Parametric test

(B) Non-parametric test
(C) Descriptive test
(D) Survey test

The front page of the research report
should be

(A) Appendix
(C) Index

(B) Bibliography
(D) Title page
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